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MOPEEO IR
(R7.9.11 ~ R7.9.15)
~ L EADTEMBYHE S ZENE LT~

¥ EmICREENAEBICREIRAHEERXYLET,

JEAT K 4 OUuT| IN [~ = =] HDCP | % v b H W JIEAT. K 4 OUT| IN |7 &= A| HDCP | v b B & AT K 4 OUT| IN [# = =| HDCP | % v b H A

' M| ZefE H (4843 91 [27.2] 63.8] #KEME=IEHY 3 0ke 36 fir| fam EK | 45| 53] 98 [24.0| 74.0 71 AL BE RN (4550 95 [19.2| 75.8

YRS KO W [49] 48| 97 [30.4] 66.6| #FKEME=IEHY 2 Oke 37T AL KEA ¥ |45[50| 95 [20.8] 74.2| #HKERMME=I AV 5Ske 72 AL ALl #A— [ 49| 51 ] 100 [24.0| 76.0

3AL| /MK W 3838 76 | 8.0 68.0| HAEME=T LAY 1 0ke 38 | HE JET |51[49] 100 [25.6] 74.4 73 fL| AREA ¥ |46[46| 92 |16.0| 76.0| HKEME=ZT LAY  5ke
4 AL B FHiE | 45( 43| 88 |19.2] 68.8| HAkEMEaT s S5Ske 39 7| WEIR JaF [45[ 47| 92 [17.6] 74.4 74 | AB FE{3 |38 46| 84 | 8.0 | 76.0

507 [/vkk SBR[ 47] 43| 90 |20.8| 69.2| #AKEME=ZEHY Ske 40 7| EEE Fnfk | 52| 48] 100 | 25.6| 74.4| FKEMEaI AU  Ske 75 fiz| HiR % [38|46| 84 [ 8.0 76.0

6 iz | )l o [41[43] 84 [14.4| 69.6| FKEMEaTEHY Sk 41 fr| FEX] 7€ (47|53 100 [25.6] 74.4 76 fAL| P Bk [ 50| 55] 105 [28.8| 76.2| #HAKEMEaTEHY Sk
TAL| YEH FET (4244 86 |16.0| 70.0| #HkEME=T v HY  Ske 42 LD KAEE| 50|50 100 [25.6( 74.4 77 fr| W)l —t [ 48] 49| 97 |20.8] 76.2

8 AL | gtfF Fl= [43[50] 93 [22.4| 70.6| #HrkEMEaTbHY Ske 43 2| fERe FRIA |39 42| 81 | 6.4 | 74.6| HAEME= AV 5Ske 78 fir| i fE— 46| 43| 89 [12.8| 76.2

9 fir | K F [54[47]101 [30.4| 70.6| FAKEMEaTEHY Sk 44 7| =G BRI | 48| 41| 89 | 14.4| 74.6 79 AL A B [44|50] 94 [17.6| 76.4| FrkEMEaTEHY Sk
10 fr| ¥&38 &I [39]43| 82 [11.2] 70.8| #HKEME=THY 5Ske 45 fr| K& zh 48| 41| 89 |[14.4] 74.6 80 fir| HE E7 |48|46] 94 |17.6]| 76.4

11 Ar| KJJ we [38]35( 73 | 1.6 | 71.4 46 7| P & 4239 81 | 6.4 | 74.6| FAKEMPE=EAHY 5Ske 81 fr| UM 4T (50| 44| 94 |[17.6] 76.4

12 Az Wim fn% [51]48] 99 [27.2] 71.8 4T fr| (L FERR [40| 41 81 | 6.4 | 74.6 82 fr| B L fE [40]|46] 86 | 9.6 | 76.4| HAEME=IEHY Ske
13 Ar| BAT v5BA | 45( 46| 91 | 19.2]| 71.8| #KEME=T AV Ske 48 | P MR |42 49] 91 [16.0| 75.0 83 fir| #HM T |39|47| 86 [ 9.6 76.4

14 7| #EpE && |40 43| 83 | 11.2| 71.8 49 fr| fepg 2% (4653 99 |24.0| 75.0| FAEME=IEHY  Ske 84 fr| BB fnEE [45]|54| 99 |22.4| 76.6

15 7| ks =W [59] 53] 112 [40.0| 72.0 50 /7| M 5w [ 50| 54| 104 [28.8| 75.2 85 fr| Mk - [50] 57| 107 |30.4| 76.6| HFAEME=EHY Ske
16 fr| g 25 |42( 38 80 | 8.0 72.0| #HKEMEaT LAY Ske 51 fir| Mk R | 50| 46| 96 | 20.8[ 75.2 86 fir| APk #IH |44 47| 91 |[14.4| 76.6

17 Az =W 5L |48 45| 93 |20.8| 72.2 52 fr| #AA #3941 80 | 4.8 75.2| #HkEMEZIeHY Ske 87 {\r| JEHE B | 48|51 99 |[22.4| 76.6

18 fr| B4 # 47146 | 93 |20.8| 72.2 53 Nr| Ey EBE | 50[ 46| 96 [20.8] 75.2 88 fif| Ki%E ASE |40| 43| 83 | 6.4 | 76.6| HAEMPE= L IY 5Ske
19 fr| s z%B0 [40] 42| 82 | 9.6 | 72.4| #HKEMPE= v HY 5Ske 54 7| ALl EE [ 38|42 80 | 4.8 75.2 89 fir| imAE P& 47|52 99 [22.4] 76.6

20 fir| E¥ MUz | 45|47 92 |19.2] 72.8 55 7| "l 1E4r | 54| 50| 104 [28.8| 75.2| #HAKEME=TEHY S5Ske 90 fir| AL FoE 44|55 99 [22.4] 76.6

21 A2 HHF fhss (41|43 84 [11.2] 72.8 56 fir| &)1l e |48 (53| 101 |25.6| 75.4 91 fiz| UM e (52|52 104 [27.2] 76.8| #HkEME=aT s 5ke
22 | W ¥ |38|46| 84 |11.2| 72.8| #HKEMEaEHY  5Ske 57 fr| T % |55[46| 101 |25.6| 75.4 92 fir| A =% [43]563] 96 [19.2] 76.8

23 7| =N EE— | 44| 45| 89 |16.0] 73.0 58 | fEM 1= |42|51| 93 |[17.6] 75.4| HkEME=TeHY 5Ske 93 fr| N I (49|47 96 [19.2] 76.8

24 fL|#exe A ) 4346 89 |16.0] 73.0 59 2| /IR #E] [ 42|51 93 [17.6] 75.4 94 fir| K& Foth (42| 46| 88 [11.2] 76.8| #HkEME=aT v h Y 5ke
25 7| /NI TR | 5146 97 [24.0] 73.0| HAKEMPE=T e HY 5Ske 60 2| EiiE ZZ 48| 45| 93 |[17.6] 75.4 95 fir| KA M [38|42| 80 | 3.2 | 76.8

26 | WNE BH | 46[45( 91 |17.6| 73.4 61 fir| &3 — [49] 49| 98 [22.4| 75.6| #HKEME=T v HY 5ke 96 fz| (LE  BAWE |45( 43| 88 |11.2]| 76.8

27T AL YEH H 50|49 99 [25.6] 73.4 62 fiz| KkFH & |54|52]| 106 [30.4]| 75.6 97 fL| Ak 2w 3743 80 | 3.2 | 76.8| #AKEME= LAY 5Ske
28 Q7| FIM kEE | 46| 50| 96 [22.4| 73.6| HARMPE=ZI ALY 5Ske 63 fi7| #fE ik | 55| 51 106 [30.4| 75.6 98 AL|FnM  ETTRB[ 46 47| 93 | 16.0| 77.0

29 7| kIt AEB | 38|42 80 | 6.4 | 73.6 64 fr| 7REE 7% [51]47| 98 [22.4] 75.6| HKEMEZIEHY Ske 99 {iz| KiE E | 56|58 114 |36.8] 77.2

30 fir| e Fdh (43|45 88 |[14.4| 73.6 65 | BB B |49]49] 98 [22.4| 75.6 100 fiz| JEmE Fnde (40| 42| 82 | 4.8 | 77.2| #HAkEMEaTEHY Sk
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32 fr| Ffdl e [ 36|41 77 | 3.2 73.8 67 AL| FRER L | 45( 45| 90 |14.4| 75.6| HAKEMEZI b HYU  5Ske 102 fr| g F 53| 50| 103 | 25.6| 77.4

33 0L e = (4944 93 [19.2] 73.8 68 fiz| #2fk 53 (41|46 87 [11.2] 75.8 103 fir| =g BRI 46|49 95 |17.6| 77.4| ¥rkEME=> v HY  Ske
34 fr| It A 4446 90 [16.0] 74.0| FAKERMEaTEAHY 5Ske 69 fir| K St— 42|45 87 [11.2] 75.8 104 fizf  JR % |46 49| 95 |17.6| 77.4

35 fr| M FHas | 41|41 82 | 8.0 74.0 70 Ar| M 7= |47(48| 95 |19.2| 75.8| HKEMEZT b HYU  5Ske 105 f7| #E #th | 47| 40| 87 | 9.6 | 77.4
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106 ] /& 5 14748 95 | 17.6| 77.4| HAEMME=aT e AH Y Ske 141 {7 /NbK Fobg [ 4550 95 | 16.0] 79.0 176 7| Fi &% [ 51| 57| 108 |27.2] 80.8

107 fr| o)l Byh | 47|45 92 | 14.4| 77.6 142 fr| i 47t |42 42| 84 | 4.8 | 79.2| #FAEMpE=I e HY Ske 177 fr| WA Th |52 48] 100 |19.2| 80.8

108 fir| A Foth [38[ 46| 84 | 6.4 | 77.6 143 7 W HEFM (39| 45| 84 | 4.8 79.2 178 fir| 4E3% EPH (44 45| 89 | 8.0 | 81.0| HkEMEaTeHY Sk
109 Az Suill #4750 97 | 19.2| 77.8| HrKEME= b HY Sk 144 fir] i B | 40| 44| 84 | 4.8 | 79.2 179 {iz| #8520 Fnzg |49 56| 105 | 24.0| 81.0

110 o7 E¥F e [52(45| 97 [19.2| 77.8 145 fr| Hrh Skt |59 57| 116 | 36.8| 79.2| #rkEMEaT AU Ske 180 fir| Z=At ik [48[ 49| 97 |16.0| 81.0

11 7| #fE —% [51[51] 102 [24.0f 78.0 146 7| R BEAX [49(|51[ 100 [20.8] 79.2 181 fir| M ZEfn [49( 53| 102 [20.8| 81.2| #HKEMEaTEHY Sk
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113 f] BHE  —B | 58|60 118 |40.0| 78.0 148 Az AF B— | 42|55 97 |17.6| 79.4| #rAkEMpE= e HY 5Ske 183 fir] W IEE |52 55| 107 |25.6( 81.4

114 fr] FH+ 1B |52 50 102 | 24.0| 78.0 149 fr| wpll JEw] | 48| 49| 97 | 17.6| 79.4 184 fir] K FE¥E | 56| 51107 |25.6| 81.4| #HAkEME= e HY 5k
115 Az &)1 it | 40| 51| 91 |12.8| 78.2| #rkEMpE= v HY 5Ske 150 fiz] HK O | 46| 48| 94 | 14.4| 79.6 185 fir| P B |55 52 107 | 25.6| 81.4

116 fir] Tk P |49[50] 99 |20.8| 78.2 151 A 1 7675 | 48| 54| 102 |22.4| 79.6| #FAkEMpE=2T e HY 5Ske 186 | mA = [47]44]| 91 | 9.6 | 81.4

117 7| &2z 15 [45[ 46| 91 [12.8| 78.2 152 fir| B§ZE 183 | 60| 50| 110 | 30.4| 79.6 187 fir| JnE 4 [51[ 53| 104 [22.4| 81.6| FAKkEMEaTEHY Sk
118 f7| FF fn3s [ 5354|107 |28.8] 78.2| HrkEME=TvHY Ske 163 fiz| Ll &R [ 58] 60 118 |38.4| 79.6 188 fir| #Efx 1EFR |48 56| 104 |22.4| 81.6
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122 f7| A JE— [ 5153|104 |25.6| 78.4 157 7| JbJR k6 [40| 54 94 | 14.4| 79.6| FAKEMEaT v HY  Ske 192 fiz| #hm  1EJA [ 56 50| 106 | 24.0] 82.0

123 7| JEJ #8847 (47| 49| 96 |17.6| 78.4 158 fir| Ely B | 52| 58| 110 |30.4| 79.6 193 fir| /vl fE— [48[ 50| 98 [16.0| 82.0| #HkEME=aTEbHY S5Ske
124 Pi|RNHE B 50| 54| 104 | 25.6| 78.4| #rkEME= b HY 5k 159 fiz| ¥EH 4274 | 48| 46| 94 | 14.4| 79.6 194 fir| fhH 7% | 52| 51| 103 |20.8| 82.2

125 {ir] R & |44 (52| 96 | 17.6[ 78.4 160 fir] MAE 7 | 5453107 [27.2] 79.8| HrKEMPEaT b Y Sk 195 fir| HkF FeF (4451 95 | 12.8| 82.2

126 {7| sk #kth [ 4749 96 | 17.6| 78.4 161 A7) jgHE  ZEET |40 51| 91 | 11.2| 79.8 196 fiz| & %% (4550 95 |12.8] 82.2| #HkEMpE=aT v HY 5ke
127 f7| A3 wWE (46|50 96 | 17.6| 78.4| HAEMPE=aT v HY 5ke 162 fir| fE0 ¥/— |52[47] 99 |19.2| 79.8 197 fir| B HeE— [50] 58] 108 [25.6| 82.4

128 fr] AR & |49 47| 96 | 17.6| 78.4 163 iz &FT 1 4749 96 [16.0| 80.0| HrkEMME=ZTvHY 5Ske 198 {iz| Pl IEA [45] 55 ( 100 | 17.6| 82.4
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131 fr| A4 WHE |45 48| 93 | 14.4| 78.6 166 fiz| fdE  fEES | 48| 40| 88 | 8.0 | 80.0| HkEME=2 AU 5Ske 201 fr|&EFT IR 56| 54 | 110 | 27.2| 82.8

132 fz] o HESE 14449 93 | 14.4| 78.6 167 fz| ZA % |[42]46] 88 | 8.0 | 80.0 202 fz| KiE £ (45|49 94 |[11.2]| 82.8| #FKEME=EHY 5Ske
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134 i) #pE %€ [46[52] 98 [19.2| 78.8 169 oz PoH B 44|52 96 [16.0| 80.0| #FrkEMME=vHY 5Ske 204 (7| fEfE BoFn [50] 49| 99 [16.0] 83.0

135 7| W] Sk [46]44) 90 |11.2] 78.8 170 fz| HrR % | 59| 58| 117 | 36.8| 80.2 205 fiz] TN E | 64| 59| 123 [40.0| 83.0| #FAKEMME= AV Ske
136 7 9% AE [41[49| 90 [11.2| 78.8| #HkEME=a T EHY Sk 171 7 FEHE ME— (47|46 93 [12.8] 80.2 206 {7 ANAE SR [ 60| 60| 120 [36.8] 83.2

137 fir| &k —i# | 38|44 82 | 3.2 | 78.8 172 07| By 23 (47|51 98 [ 17.6] 80.4| #HrkEMME= v H Y 5Ske 207 firf Furli fE— [52]52] 104 |20.8| 83.2

138 fir| PNjEE ®lE [ 56| 55| 111 [32.0[ 79.0 173 A7 5K F]— | 46| 49| 95 |14.4| 80.6 208 fir| SEF zh (48|48 96 |[12.8| 83.2| HAKEME=IvHY Ske
139 fr| 223 B |41|46]| 87 | 8.0 | 79.0| HrkEMpE=EHY Sk 174 47| [LigF BedE [55( 48| 103 [22.4( 80.6 209 17| HifE  Fa/l | 57] 60| 117 |33.6| 83.4
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211 7| #E% B+ (41|46 87 [ 3.2 | 83.8| #HKEME=HY 5Ske
212 fr| HhO F=% 46| 46| 92 | 8.0 | 84.0

213 fr| P fE | 52] 56| 108 | 24.0| 84.0

214 fr| fiky ZEd 49|50 99 |14.4| 84.6| HAEMPE=T v HY 5ke
215 fr| Wi JE | 45| 54| 99 | 14.4| 84.6

216 f7| P {397 [ 58| 54| 112 [27.2] 84.8

217 7| I BE (55| 57| 112 [27.2] 84.8| #HKEME=TEHY 5Ske
218 fir|/NIpkE [H3E| 66| 59| 125 [40.0[ 85.0

219 fr|4x2z WA 51| 57| 108 | 22.4| 85.6

220 fr| BFE Bk 6050|110 | 24.0| 86.0| HAKEME=ItHYU Ske
221 fr| %5 #— |58]|68|126 |40.0| 86.0

222 | #TME ¥ | 54|61 115 |28.8| 86.2

223 O] /R R [ 52|63 115 [28.8] 86.2| #KEME=ZTEHY  Ske
224 07| B4 1HER [46| 52| 98 [11.2] 86.8

225 | )l Fk—HB| 56| 58 | 114 | 27.2| 86.8

226 7| )l e (59| 55| 114 [27.2] 86.8| #FKEME=TEHY Ske
227 fr| fH B2 | 49|62 | 111 |24.0| 87.0

228 fir| WA SEJe | 58] 53| 111 |24.0| 87.0

229 fir| =% Bk | 56| 61| 117 |28.8| 88.2| #HkEME=a v HY 5ke
230 fr| Af Se— 45|49 94 | 4.8 | 89.2

231 r] ¥ EH (5165|116 [25.6| 90.4

232 fi| HEA fdz |63]63]| 126 |35.2] 90.8| HAEME=aT AU 5ke
233 fr| % HET|67]64] 131 |40.0| 91.0

234 fr| (L)1l 4= | 65] 67| 132 |40.0| 92.0

235 7| fEfE ZFME (58| 74| 132 [40.0| 92.0| #KEME=IEHY Ske
236 fr| =¥ STk | 68] 65| 133 | 40.0| 93.0

237 7| B w5 62| 72| 134 [40.0] 94.0

238 fir| Wbt WE | 70| 64| 134 |40.0| 94.0| HAEMPE=T e HY 5Ske
239 fr| Brug Wuh | 61] 74| 135 |40.0] 95.0

BB | Wi #5972 131 [33.6] 97.4| FAkEME=T AU 1 0ke
BM | fija, #Ek[61]70] 131 [33.6| 97.4| HFAkEME=aT v HY 5ke




